# Carine Primary School, Carine, WA

58 Osmaston Road, CARINE, WA, 6020

2019 Requirements List for Year 1 Your Access Key: W4SJ4A



## Please order at OfficeMaxSchools.com.au

OfficeMax has been working with schools for over 40 years and we love Back to School. We want you to have a strong start to the new school year, which is why we have worked with your school so you can order everything from your requirements list with us. We make Back to School hassle free.

#### **HOW TO ORDER**

Ordering is fast, secure and convenient, just visit OfficeMaxSchools.com.au and follow these easy steps:

- 1. Search for your school Carine Primary School, Carine, WA and enter your school access key W4SJ4A if required.
- 2. Complete the student's details and select Year 1.
- Review your requirements list and make changes (if required).
   Please note: some list items have been denoted by your school as a requisite for the subject or year.
- 4. If you need additional items, top up from our Back to School special range, and checkout.
  Please note: For home deliveries only, if you have more than one student at the same school repeat above steps.

Once completed, an order confirmation will be sent to your email address.

<u>Please note:</u> Any technology items you order will be sent separately to the rest of your items.

#### ORDER DEADLINES and DELIVERY INFORMATION

#### **Home Delivery:**

Your order will be delivered to your nominated address.

- Orders placed on or before 2nd December 2018 will be delivered free of charge before the end of December 2018
- Orders placed between 2nd December and 16th December 2018 will be delivered free of charge prior to Term 1
- Orders placed between 17th December 2018 and 6th January 2019 will incur a delivery fee of \$9.95 and be delivered prior to Term 1

Unfortunately, delivery of orders placed after 6th January 2019 cannot be guaranteed before the start of Term 1, 2019

**Australia Post** - Orders are delivered via Australia Post's eParcel service. As soon as your order is dispatched an email will be sent to let you know the Australia Post tracking ID Number. Your order can be tracked at auspost.com.au.

Note: PO Box addresses are not accepted by Australia Post.

#### Payment Methods Accepted









#### BACK TO SCHOOL THAT GIVES BACK

Every time you buy textbooks or stationery from OfficeMax, we give a portion of your spend back to your School. A few small exclusions apply, which you can find out about at officemaxschools.com.au/givesback.

**VISIT US** 

## Carine Primary School, Carine, WA

58 Osmaston Road, CARINE, WA, 6020

## 2019 Requirements List for Year 1 Your Access Key: W4SJ4A



When shopping at our OfficeMax stores, please bring this list to receive your schools Back to School pricing as standard retail pricing applies without this list. Product codes starting with 5 or 6 cannot be purchased or paid for at the retail stores. Payment options available are Cash, EFTPOS, Visa or MasterCard.

#### **OFFICEMAX STORE - NORTH**

Unit 6/505 Scarborough Beach Rd Osborne Park WA 6017 (Access off Selby St)

#### **Normal Trading Hours**

Mon – Fri: 9.00am – 5.00pm Sat: 9.00am – 1.00pm Closed Sunday and Public Holidays

#### **Extended Trading Hours**

2<sup>nd</sup> January 2019 – 9<sup>th</sup> February 2019 Monday – Friday: 8.00am – 6.00pm Saturday: 9.00am – 5.00pm Only Day Sunday Trading

Sunday 3<sup>rd</sup> February: 11.00am - 4.00pm CLOSED ON PUBLIC HOLIDAYS

Normal Trading resumes Monday 11th February 2019

### **OFFICEMAX STORE – SOUTH**

Unit 5/9 Yampi Way Willetton WA 6155

#### **Normal Trading Hours**

Mon – Fri: 9.00am – 5.00pm Sat: 9.00am – 1.00pm Closed Sunday and Public Holid

Closed Sunday and Public Holidays

## Extended Trading Hours

2<sup>nd</sup> January 2019 – 9<sup>th</sup> February 2019 Monday – Friday: 8.00am – 6.00pm Saturday: 9.00am – 5.00pm Only Day Sunday Trading

Sunday 3<sup>rd</sup> February: 11.00am - 4.00pm CLOSED ON PUBLIC HOLIDAYS

Normal Trading resumes Monday 11<sup>th</sup> February 2019

Please note: zipPay is not available in store as a payment method

#### HAVE A QUESTION?

If you need help placing your order, returns or refunds, delivery information or have a general enquiry, please visit OfficeMaxSchools.com.au/help

To view our full terms and conditions regarding your order, please visit our OfficeMaxSchools.com.au/terms



# Carine Primary School, Carine, WA

58 Osmaston Road, CARINE, WA, 6020

## 2019 Requirements List for Year 1 Your Access Key: W4SJ4A



All items on the Recommended Items List including pencils and textas must be clearly labelled with your child's name and class.

BIN CODE DESCRIPTION QTY PRICE TOTAL

#### Year 1

Parents to Supply: 1 x Waterproof Library Bag (Available from the Clothesline Uniform Shop), 1 x Wide Brimmed School Hat (Available from the Clothesline Uniform Shop). Please assist teachers by supplying pencil cases which are no more than 40cm long in order for them to fit into desk trays.

long in order for them to fit into desk trays.								
Recommended Items								
		Please select either Right or Left handed scissors	1	\$0.94	\$0.94			
S0937	1113488	OfficeMax Blunt End Scissors Right Handed 130mm Red (Variants available)		\$0.94				
S0953	1163213	OfficeMax Blunt End Scissors Left Handed 130mm Green (Variants available)		\$0.94				
S0061	1387030	OfficeMax Megaspace Scrapbook 335x245mm 100gsm White 64 Page	6	\$1.20	\$7.20			
S0135	2131137	Sharpie Yellow Fluo XL Highlighter Chisel Tip	1	\$1.47	\$1.47			
S0143	2495856	Faber-Castell Green Textliner Ice Highlighter Chisel Tip	1	\$1.20	\$1.20			
S0218	1014196	Artline 90 Permanent Marker Chisel Tip Black	1	\$3.31	\$3.31			
S0240	1032100	OfficeMax Plastic Clipboard Folder Front Cover Inside Pocket A4 Red	1	\$2.56	\$2.56			
S0273	1033506	OfficeMax Manilla Board Document Wallet 30mm Gusset Foolscap Blue	2	\$0.97	\$1.94			
S0274	1033549	OfficeMax Manilla Board Document Wallet 30mm Gusset Foolscap Pink	2	\$0.97	\$1.94			
S0275	1033522	OfficeMax Manilla Board Document Wallet 30mm Gusset Foolscap Green	2	\$0.97	\$1.94			
S0276	1033530	OfficeMax Manilla Board Document Wallet 30mm Gusset Foolscap Orange	2	\$0.97	\$1.94			
S0277	1033557	OfficeMax Manilla Board Document Wallet 30mm Gusset Foolscap Yellow	2	\$0.97	\$1.94			
S0301	1468324	OfficeMax Polypropylene Document Wallet A4 Clear	5	\$1.50	\$7.50			
S0319	2405199	Crayola Double Sided Dry Erase Board 215x14x280mm	1	\$6.47	\$6.47			
S0327	1483749	Crayola 51-6009B Blackboard/Whiteboard Plastic Eraser Handle 140x50mm	1	\$3.16	\$3.16			
S0331	2931222	Expo Black Dry Erase Whiteboard Marker Bullet Tip	4	\$2.53	\$10.12			
S0412	7605269	Strand Crayons Assorted Colours, Pack of 12	1	\$8.23	\$8.23			
S0415	1993836	Crayola Twistable Crayons 6.0mm Assorted Colours, Pack of 12	1	\$7.69	\$7.69			
S0440	1296825	OfficeMax PVC Eraser Free Large	2	\$0.30	\$0.60			
S0450	1174215	OfficeMax Metal Pencil Sharpener 2 Hole Silver	1	\$1.14	\$1.14			
S0504	1419714	Faber-Castell Junior Triangular Coloured Pencils 3.8mm Lead, Pack of 10	2	\$5.64	\$11.28			
S0559	1292285	OfficeMax Unpolished Wooden Ruler 30cm	1	\$0.32	\$0.32			
S0854	1133969	EC PVA Craft Glue 250ml	1	\$6.34	\$6.34			
S0866	1048171	UHU Stic Glue Stick 40g	10	\$2.60	\$26.00			
S0890	1021931	Faber-Castell Goldfaber Graphite HB Pencil	15	\$0.51	\$7.65			
S0923	1290061	OfficeMax Vinyl Name Pencil Case 225x140mm Assorted Colours	2	\$1.95	\$3.90			
S0988	1466933	Verbatim Multimedia Headset With Microphone	1	\$13.09	\$13.09			

# Carine Primary School, Carine, WA 58 Osmaston Road, CARINE, WA, 6020

# 2019 Requirements List for Year 1 Your Access Key: W4SJ4A



BIN	CODE	DESCRIPTION	QTY	PRICE	TOTAL
S1012	2940957	Kleenex Viva Cleaning Towel White 60 Sheets, Pack of 2	1	\$5.48	\$5.48
S1021	2223325	Tork Premium Facial Tissues 2 Ply White, Pack of 224 Sheets	2	\$3.93	\$7.86
S1034	1977407	Faber-Castell Project Markers Fine Tip Assorted Colours, Pack of 12	2	\$2.13	\$4.26
T3089	2944855	Grammar Conventions Book 1 3rd edition	1	\$16.95	\$16.95
T3118	1070312	New Wave Spelling Book B (RIC-6268)	1	\$9.96	\$9.96
T4275	2950154	Australian Signpost Maths Mentals 1 3rd Ed	1	\$14.95	\$14.95
T4278	1279513	Oxford Maths Student and Assessment Book 1 Value Pack	1	\$23.95	\$23.95
				Tota	l: \$223.27
Other I	tems				
	5007879	(5007879) School Voluntary Contribution Per Child (Can be included in the final total for your convenience or paid directly to the school office)			\$60.00